ENLEHEX

FH

TEERBE  BEGRE

6 X
o804

BRERE
HEIA

%%E%img hNTEME  ATS#HK

e <5
FIE20]
iet

HEDE- QZ

FAIAY

JLAERE
By
=
-3

JLRERE
iy

£ 2

LB T X

akilE=:
5

=
EA B
(-

SEENIE
2ibig

A 9% || E | 50%

B | 80% F | 0%

cl 7% || G| 30% |
D #

58014

58023

58025

58035

e
(FEWE)

Ll

6
o0

® _

iw155D : /"‘]L‘ {?F}Fﬁ

— N\

| R
N

13 ﬂ —
3 W\ @ (&) | 1 1600 \, ——
1750///A \\3 J&L JUL ’ 150D
B | = W
<1750 175D : °) \\ |

REZE7TH

D
“ 1755) 10) | 5 \\\,‘
\ () _ REZT 160D NN
— c @) hﬁ \ i) HUREREER \5\\\\
\ @) \\% o \y
S LS T\%m |
K 4 160D ( 1600
-5 I oo
© ; 165D > <—
180D IUODF W
-\ L 3) |
130D = 1351)
W /\ \ 170D — L@
—

A

T ”"""/"\ \ \ -
) 28)__ \
=T
/;1750%%/@/\\ ‘[
) 1800 165D i
26)175D @) i ki

o

=100 ||
— @ - |
%”/’4’17501,

REZEAE 1 TH
D)




